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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Mark scheme

Meaning

Annotation

Tick

Development of point

incorrect

Irrelevant (material which doesn’t answer the
question)

Caret sign to show omission

Opinion

Just/Justification

Good language

Poorly expressed

Past tense correctly used

Future tense correctly used

Present tense correctly used

Accurate language

HiH B HHB |- HH>E|[% &<

Inaccurate language

Abbreviations
/
()

Meaning

Alternative and acceptable answers for the same marking point

Words which are not essential to gain the mark

Underlined words must be included to gain the mark

June 2013
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12 Subject-specific Marking Instructions

You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of
the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in
order to spot excessive lifting in Exercises 6 and 7. The texts will not appear automatically on your marking screen.
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Section A: Listening and Writing

Mark scheme June 2013

Exercise 1
Question Expected Answers Marks Guidance
! = 1 Multi-choi
ulti-choice
2 -y 1
3 | 1 Either
Y Marks entered individually. No need for annotation. Enter 1, 0 or NR as
4 . 1 appropriate.
5 = 1
6 1 Or
< This Exercise is scanned in by the page. Marks are awarded individually.
7 iy 1 No annotations are necessary.
8 Q 1
9 Q 1
10 o 1
11 | 1
12 | 1
Total 12
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Exercise 2
Question Expected Answers Marks Guidance
(@J1) T - sl 1 .
Gap-fill
(@) 0 - Ala 1
(<) 1Y - 4alas 1 | Ether o -
¥ The elements are scanned in individually. No annotation is necessary.
(&) Y- ssa 1 Enter 1, 0 or NR as appropriate. Ignore misspellings.
&) Voo Oldula g guas 1 or
(G) Y - Jaay 1 The elements are scanned by the page. No annotation is necessary.
(2) V- A £ 1
(2) V¥ - huaa 1
(2) ¥ - Cgliia 1
(9) VO - Cyuind 1
(3) V- bl 1
() A - Aulia 1
(1)) VY - oaied 1
Total 13
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Exercise 3
Exercise specific guidance:

Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

For single mark questions no annotation is necessary just enter 1, 0 or NR.

There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the
mark or when a word in the response invalidates an otherwise acceptable answer.

You may also use the highlighter tool to show harmless additions.

Answers in Persian get no marks.

Exercise 3: Listening

Question Expected Answers Marks Guidance
1 food 1
) (a) to introduce handicrafts (to Britain) . Any related references to handlcraft or hand made
. products, no need to mention word Iranian
(b) open two new offices .
Two companies, branches and places are also acceptable
. " To show new sales items & new progression are
3 to reflect its new activities 1 - I
acceptable and any answer pointing new or extra activities

4 (a) south and east 3 (b) to contact, sell or anything referring to reaching or

(b) access European markets accessing Europe or European countries
5 bilingual — run offices 2 Also Manage
6 help managers 1
7 training courses 1 Tutorials; classes; lessons; new skills are acceptable but

9 not work experience

8 depending on their needs 1
9 by advertising 1 House; housing; home & place

work permit
10 , 2

accommodation

Total 15
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Exercise 4 10 marks for Communication (Grid H1), 10 marks for Quality of Language (QolL)

Exercise Specific Guidance

e The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to
assess the QoL.

e Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points
across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker
/ sympathetic examiner” and give credit accordingly.

Annotations:

In the body of text, use a tick (v') to show that a point has been fully and successfully conveyed.

If an element of the point has been omitted, use the caret sign (1).

If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.

Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

The annotations will give a global impression to help you apply Grid H.1 accurately and consistently.

Grid H.1: The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.
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Exercise 4: Writing

[10 marks for Communication, Grid H.1 +
10 marks for Quality of Language, Grid C.2]

Expected Answers: Model response Marks Additional Comments
pob
J@\@@ﬁ)d&u\jﬁu&ﬂﬁ‘ﬁwu)lsgcJQJA\JMQMC)A
(2) p 8
Ol (ipad g L] glana (l (50l A4S pledBle Jhny (4
(2) .pud) St 4y g siden cledh) f Adlala (3 58a
G gdlca Lidd ) ga 4y AS aT8 S anaial g a3 S alad Gl Jla 99 1) Gl gmd (e
(3) a2 1y s A s L s
omah G 35 g g Al Cuaaa Cilida (o gl 4l g5 0s (00
(2)
(1) 2% (a4 (s iy e Ml IS Gl (g0 ks Ol @y a2 Ll
al Aal b
Communication, Grid H.1 10
Quality of Language, Grid C.2 10
Total 20
Total for Section A 60
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COMMUNICATION

GRIDHT 1 10 marks AO2
9-10 Most or all of the information successfully conveyed.
7-8 Three quarters of the points conveyed.
5-6 Half of the information successfully conveyed.
3-4 Only a quarter of the points conveyed.
0-2 Very little or no information conveyed.
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QoL: Read response again and assess for language.

¢ Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year
beyond GCSE, the only complexity of language that is expected is that required by the Exercise. Identify the band which best matches the
performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE — ACCURACY

GG 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of
complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by
the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns).

Frequent first language interference.
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Section B: Reading and Writing

Exercise 5
Question () Coand - &y pal Marks Additional Comments
(1) o 1
(2) (= 1
(3) < 1 Matching beginnings and ends of sentences
4) all y Marks entered individually. No need for annotation. Enter 1, 0 or NR as
) : appropriate.
(]
(6) Y 1| Or
1 mark for each correct answer
@) &) 1
(8) o 1 This Exercise is scanned in by the page. The marks are awarded
(9) o 1 individually. No annotations are necessary. If the candidate has put more
: than 10 ticks add up the total number of correct marks and deduct 1 mark
(10) = 1 for each tick over 10
() “amd - 0 Gy
(1) d 1
@) o 1
(3) 3 1
(4) &l 1
(5) J 1
(6) g 1
@) : 1
(8) < 1
(9) d 1
(10) d 1
Total 20

10
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Exercise 6
Exercise specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire
page will then appear on the screen for you to assess the QoL.

e Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear
on the screen.

e Go through all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or
QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes
slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is
gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may
answer with single words / short phrases.

e Annotations:

e Award 1, 0 or NR without annotation.

e Use atick (v) to indicate a mark awarded on any question where the answer is more than one mark.
o Use a cross (x) when a word in the response invalidates an otherwise acceptable answer.

e Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude
from Quality of Language assessment.

11
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20 marks for Content

Exercise 6 10 marks for Quality of Language (Accuracy)
Grid C.2 — Total = 30 marks
Question Expected Answers Marks Guidance
L Sy 56y e) Jilase (5o 3l 0 ol sl ylat ¢ a5 DL 5 IS8
1 3 Sl dlaalay g = ¢ ) Jibe ol ) sla yai ¢ 6 s S 2 out of 4
44.\...'m LgLAJ.Lu
2 dgdioe Ja A s pase Walng) bl 0 s i jshallas | 1
3 i s b lacsad Gk ) 1
4 (1) DS a4 il zliial (1) Wk a e 339 (1) 03 Pl | 3
5 Gaadia o e Gla Sl Waeatil sd 4y (1) 3w 1) 4d jla g0 (5 8 sl el (S 5 G985 08 4y oy Ldl 4545y
(1) W30 b ylas Sy | S R JUTE
6 muﬁw\JdﬁﬁwJ\@l’ms’j\}d%ﬂJJJ(1).A.a)zk"_t;\)e.lfk"_t.\‘)l\g“)d 2
@)
7 Jﬁwwuuido‘)b)dm\;)dJEAS‘\S‘_A:\L»ALJJJSC)LAJJ&_\;\J 2
g |0 B G, By ol lise (1) o it Gask §) pusaS3h, gRlia |
(1) Sle ga 50 g0l )2
9 (1) 200 Yl ad pe I 5 AT (1) A8L 2 50n0 2l J1aS By 2
0 | S Oeelanl (85 0S8 gy 5 Jidn Qlusd 0S4 gLl DS 4]
(1) L ol (S Hhai Jlelal 5 55 Jilue (il & 40 (1) 23l 48dle
Total 20

12
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Assessing Quality of Language

a.

b.
C.

You will get a separate screen which will be the whole page (unannotated). Read all the answers again. You may use the green L
marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential.

Apply Grid C.2 and enter the mark.

When candidates have left several questions unanswered, click on “fit height” to have an overall view.

e If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band

o If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band

GRIDC.2 | QUALITY OF LANGUAGE - ACCURACY

10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of
complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced by
the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns).
Frequent first language interference.

13




F885 Mark scheme June 2013

Exercise 7

Exercise specific guidance

Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the

candidates’ work will appear on the screen. You will have three successive screens 8a, 8b and then 8a + 8b again, but without the annotations in
order to assess QoL.

Exercise 7(a) Comprehension. Grid | [10 marks]

a. Annotations:

e In the body of text, use a green tick v" to show that a point from the mark scheme below has been fully and successfully conveyed.
¢ If an element of the point has been omitted, use the caret sign (1).
¢ If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.
The annotations will give a global impression to help you apply Grid | accurately and consistently.
b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark.

c. Copying/ lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if the entire
answer is lifted (see Grid ). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (...... ) to show lifted
language. Only phrases of 5 words or more should be counted as lifted language.

14
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Exercise 7

Comprehension of text, Grid | = 10 marks

Response to Text, Grid J = 20 marks

Quality of Language (Accuracy), Grid C.2 = 10 marks
Quality of Language (Range), Grid F.2 = 10 marks
Total = 50 marks

Comprehension Points:

Marks Additional Comments

c_u.u\ul.ga JJA@M)&JJJAJHHA‘:MMUAJJJ =\
&.\M\OMJASM@AJMHJM& JJJ‘-!‘A.ILHAA(_QLMILAJ =Y

m‘ouJ‘J‘ubJu?meJJA‘j\Jd -y

allim Rl ) jo ) SE 9 (A S Syl -8

mwam\\JﬁaduMﬁuuuummﬁ -0

..... Jnalgla ) ‘-<-'ub-° Qalghea 0

JJJJ\S‘UU.“AS\U;I \ch_\AJAAJJ -V

u\J.i\‘LIL&.UA\Lgumm&u\guah\ggﬁLSIAGJL\M‘,AUA\U\JMJJJU.\QJ -A

um\MJSJ\JﬁeAJAUMJu\JJAJJAMyAJy -4

JJ\JLM_\.‘Au.uhUJJJQ_\.\.\AJMu\ Y] B I

JJMS?AJAM‘J{’AMJ&J—H‘&@U\J&HJJJ(JSAJ&LQJJMSJ‘J\-UJ?M) -\
SR GLES L e

15 collalcsms (sl o LSt AS Canal (i3 g aplad Sy (g3 gl (g K 5 3y Sl &-‘\j\

ulS-A&JJuL@A ‘51.&&_\.‘.4}9% UJJJ\ AJSUU%R):'

9309 SRR g 3 sloalyl 8 J A A8 )5k s (ST 9 R 98 sAdlay 0 5 ) 4—3\ ‘2

o)

.ciw.n\OMJJMOJJJTQMJQMHJJ\g‘suﬂ:\lhécsoj:lﬁ\ -\e

Comprehension of text, Grid |

If candidate:

e makes 5 points, gets maximum 4
marks

e makes 6 points, gets maximum 5
marks

e 7-8 points, maximum 6-7 marks

¢ 9-10 points, maximum 8 marks

¢ 11-12 points, maximum 9 marks

¢ 13-15 points, 10 marks.

10 Points presented as bullet points in
question A will get fewer marks on grids
C2 and F2. There has to be evidence of
complex sentence structures to get 5
marks and above on Grids C2 and F2

Quality of Language (Accuracy), Grid C.2 10
Quality of Language (Range), Grid F.2 10
Total 50
Total for Section B 100
Total for Paper 160

15
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Question Answer

Marks

Guidance

[20]

Content

Levels of Response

No Indicative Content — personal
response

Grid J: Looking at the annotations, assess
the quality of the response to the text and
apply Grid J. NB: “imagination” and “insight”
are interpreted conservatively. The
number of ticks you have awarded will
indicate a mark band. You must then use
your professional judgement to fine tune
your marking. You may look at the quality of
the candidate's points and go down a mark
or two if they seem rather pedestrian or
repetitive. Similarly an attempt at originality
or humour could gain an extra mark or two.
Enter your mark.

o Use the green tick (v') in the body
of the text to show each opinion / personal
response and a green tick (v'+) in body of
text to show a development / extension of
the opinion. NB: one opinion may have
several extensions.

GRID J
RESPONSE TO TEXT

16-20

Responds with well developed points of
view which show insight, originality and
imagination.

12-15

Expresses points of view which are
consistently developed and respond to
the requirements of the task. Shows
some originality and/or imagination

8-11

Expresses points of view which respond
to the requirements of the task. Some of
these may be developed and there may
be some originality and/or imagination.

4-7

Manages the beginning of a response to
the requirements of the task. May have
difficulty in expressing and/or developing
points.

0-3

Very short. May not go beyond points of
view already expressed in the original
text.

16
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Exercise 7(a) + 7(b) — Language (QoL) — Grids C.2 and F.2: [20 marks]

Mark scheme June 2013

Question Answer Marks Guidance
Exercise | Assess for Quality of Language using Grids [20] . Read the whole response again and assess for Range (Grid F2) first —i.e.
7a+b C2and F2 vocabulary and structures. Then assess for Accuracy (Grid C2). Key words
A dix 1 have been highlighted in the grids below. Ignore final sentence of 3-4 band in
ppendix Grid C2, because vocabulary and structures have already been assessed

under Grid F2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

Ignore language lifted from the text when assessing language (See Exercise
7a above). Lifted language is not credited for QoL — only content points
and/or personal response.

17
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APPENDIX 1
GRID C.2 | QUALITY OF LANGUAGE - ACCURACY GRIDF.2 | QUALITY OF LANGUAGE (RANGE)
10 marks AO3 ' 10 marks AO3
_Characterlsed by a high and consistent level of accuracy Effective and confident use of a wide range of vocabulary
9-10 in use of complex structures, although there may be 9-10 and idiom with a variety of complex sentence structures
some errors.
Language generally accurate. Shows a sound grasp of Effective use of a range of vocabulary and structures
AS (and/or A2) structures, as appropriate. Generally appropriate to the task, with little repetition. A positive

7-8 correct use of complex structures. Tenses and 7-8 attempt to introduce variety and to use a range of complex
agreements good, although there may be some sentence structures (though not always able to maintain
inconsistency and errors in more complex areas. correct usage).

Shows evidence of fair understand|_ng of grammatical Attempts to extend the range of vocabulary, though still
usage. Generally accurate use of simple sentence o
rather repetitive. Attempts to use more complex language

5-6 structures. Some correct use of complex sentence 5-6 ith . duci f svnt d
structures. The performance is likely to be patchy and WIth Ssome success Ih producing a range of syntax an
inconsistent. sentence structures appropriate to the task.

Evidence of gaps in basic grammar. Frequent errors of
an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and structures.

3-4 common nouns, adjectival agreements) but evidence of 3-4 Frequent repetition of the same words and phrases. Some
correct use of simple sentence structures. (Vocabulary attempt (not necessarily successful) at the use of more
and structures may be quite strongly influenced by the complex sentence structures.
candidate’s first language).

Little evidence of grammatical awareness. Persistent,

0-2 serious and elementary errors (endings, verb forms, 0-2 Only simple sentence patterns. Very limited vocabulary. Very
gender of common nouns). Frequent first language limited range of structures.
interference.

18
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APPENDIX 2
Transcripts of Listening Texts

Note for Document production team: This section of the mark scheme must stay in Portrait
format until after the standardisation meeting.

Tapescript for Exercise 1

] B Ry
oo ol )3 (B sdie sl (s Dl s )3 sA (i) 3 4S 2 la Hhal 831 5o jl Gl ) glulid s
| e & Sl Cany y Jaima Ly (e (sla 55058 Lalie 0 la 55058 ¢ 58l ) dialsa ), J )
DA g5 o sl A B adl i e a5 casdia lsn (Kol Celias ] ol 58
Sl u.u:\:! B

ASLy 2013 (5 5 (o sana Gl 50358 oy e Jada 5 (RS0 Blad 1 e 48 A sl 058
S IS L g 40 48 Cuman 5y 5 S ) 3 (sl el (LSl 23S e ) 68 0 (5 S slaa 5
Ay e a3 e g 3 g8 b ) el CSUG G g ot g g ) b e g g S L aS o sa
A1 aa SS90 A cpl ) el gl 65 Wl

S Hh (a3 A4S Cal lag g 5e (a2 Sage ) S O 008 SO salie 5 s b g 5
Sl od S Jerdedasd ] ylacala 55 ilugyned

a3 linad BASCE jma 4S 3 gl e Eiely O AU Gl g 4r (S gana sladisasil (25 Jeme
Silay g gare sla g 50 55

G Gl 2l alie (Jgene dia sl So e e 50 0L 3 w3 (B sl s Gl
¢35 il 625 (59 ) (B sle 58 A Gy Y daima 4n ala Cuea) Jala 43 LW )l A ¢ a5 S
Ol Wl 48 loe Sy e ) 200 (5 e G Ol a3 5 W s 03 5 o (3 548 pualy a8y
aan 5L e Dliay 25801 sene (sladie il (sla a5 i) g3 o Tadl g a5 258

SR A S e yu 3l Ol Jud Toala ol aeag ol e A1) Cp it s 8 (0 e ol
.A.\‘L;\a\‘)l_}



F885 Mark Scheme June 2013

Tapescript for Exercise 2

Q\Jg‘ @LAMJAA o4 O‘JJA‘L;&-\.‘J j\ U’d:é

Ao i Ledy (IS ja 5 (285 alid 4y () salalas ) (SO elilaial i amy (Jls ) AT
s 35 Ol e )34 i lie s dia gl KLE ) alaed b dalian ald jid

3 0 Jsal il (gl A L) HoaS din g i K e 0 LIS joaa 5 ) Al sliad
g JAN 0 iy gane g ESEL s cpe 50 g MR e g 2 e 90
.JJJ‘)SGAL’\,\MaJ\j}B

é}dﬁ@dﬁ#@g\hwmsjﬂ.n)m};J.\M\Jd\.mcd}ﬂ\ﬁcdjl.@éhj\)ﬁ\
Hsan 25 il 5o sl 5 et sladas 4l o) )l ) ladss Ul 5 8,
AN e Al 50 e sA sl e DASan 0L sia o sl Ll

yﬁs}&@bjombemdw&g\ ‘Jydhéhe\}bj\guwwumd
Aty e A e Lo 4S ila H L o8 Ladan (ol AS i€ La ales disia 0l a0 by 230 ) 0

AR See Sule 5 A e Dl ) e (AUSE Zd ()5 e Le i Hla (38

Gl 5 L sanae (g0 Jli s By (5 S g s b oxid by 58 a J) ) 580 ) (S
M“\Jbuﬁ)ﬂ‘-ﬂ\; )
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Tapescript for Exercise 3

Exercise 3 Job advert for an import/export company

€ o5 yiuaie 338 S el o el sy (12 3 g & jala 5 iyl 5 Ky
58 et e Wil s sl 5h 4 |y ) i s a5 e LaaS Ladl 51 o S
YIS & o Gl 8 A sl aniS Sl JKoe Gla el 50 uaa iy gyl i

Lo i 52 Adl Ginoa Collad (goniaajlin 4S 2 )l (gl JU ali Ay Sl &S ) (o )
e s o Ll (sl 1 b 4 (lad 4 ol 55 B AS0 ) 50S (3d 5 gt 0 Al S 0

ag ) W iy ol 2l g el ) aS s pla (ghail 550 O e 4g i S 55 G 8 Jlis 4y
DS calite slaidy 248 apie i R0 8 Jlea o le el prosdle S ol sa
b pdin 3 b a )Y (5 5al IS (slae 590 3l 31 () () 1S CSS () e 4g &S )

g an 5 b B L )l L) oD aleaa ) alaid 8 Hlas jalagl s IS (goa

b2 sa S8 pas laie YIS s

00 52 )53 a3 ye g Ol 4y (8T Bk ) s 40 ol il aladiul 45 b g pe Cile DUl

280 S e la) sl (38 ge Clalda gl (5 200 5 e S yE a3l ) sea
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